x10°° . 0pX10°

BT T I
PN S e R L L EEE KU & (ERIERLRE F0.15F
S o o o
- w L
bj 0.1:— """""" v 0.1:—
0.05F -+ -1 g ¢ Fr ebafe¥ag el of---oeeee 0.05F
oF S oF
-0.05F -0.05F ]
-0.1~ -0.1- :
-0.15}F  RRREEEEE =015 -f e : ERILLEE
.9_0.2: L ..!- L .9_01.%; Ay ...! L ...! e ...! L
S || TR Pt e g Lo It
o FFTETE x  El 14 % .........
N + B E!: =TT 5
0.5 1 EREEER RLP-SRRRRLPLEE 1 | EERPRRLRRRS o5t HE- + ----------
- 1 o } 4T
=) C—1
10 1 10 10 1

2 3 2 3
p, (PCA t%obeamlinélp TPlp(>)T (PCA t%obeamlinéLP

[y
o
[y
o

(o]
|o|||
T
(o]
(@]
1

(o]
(@]
1

o
i
l

< 00, > (um)
N
(@]
1

< 8d,> (um)

N
T |o|
1

20 1 R R S 11—

6 *| |+
S L AARE 2

50 : ot :
-1 -1 2 3
10 1 10 1 TF’:I'[S)T (PCA t](')obeamlin%g)

- F
S £ H :
= 11 s s N0 S S
AN I N N
- . ¥ |
o il : $(1
= I e T Py
o Of ST hl-u“.'\m'\m,* TR
o i : ML
[ At
\% AR Jy A 1 N
+
&

Ratio

i G 9beamiindf”




	Contents
	Page 1


